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X REFA AEER | NE8S — e T 7e%E | 18250 | 18278 | 1528H
- _ Tcm 0.14 0.14 0.16 0.15 0.10
?%Eqmq;ﬁlﬁif) EBREH PREE 50cm 0.12 0.16 0.16 0.16 0.10
REE 50cm 0.06 0.08 0.08 0.08 0.06
_ Tcm 0.14 0.13 0.16 0.18 0.12
RIRRE R PREE 50cm 0.14 0.15 0.14 0.17 0.16
5= | 50cm 0.10 0.10 0.10 0.10 0.09
_ Tcm 0.12 0.12 0.12 0.14 0.13
B HIRBEFR PITEE 50cm 0.14 0.14 0.13 0.14 0.14
5= | 50cm 0.10 0.10 0.11 0.10 0.10
_ Tcm 0.14 0.14 0.14 0.13 0.13
B SIERBE PREE 50cm 0.13 0.13 0.13 0.13 0.12
5= | 50cm 0.09 0.10 0.11 0.11 0.08
L 1 1 1
. (BZSRER) — cn ' ' : ' :
RIS 5= | 50cm 0.10 0.10 0.10 0.10 0.10
(EBLLIBR7E) — Tam 0.15 0.17 0.16 0.17 0.22
e BIRIR BT 50cm 0.17 0.18 0.15 0.19 0.19
5= | 50cm 0.11 0.10 0.09 0.11 0.10
_ Tcm 0.20 0.18 0.15 0.22 0.19
EBRER PREE 50cm 0.21 0.18 0.17 0.20 0.17
5= | 50cm 0.08 0.10 0.09 0.08 0.10
_ Tcm 0.16 0.15 0.15 0.15 0.16
> ROIEE PITEE 50cm 0.16 0.13 0.15 0.15 0.16
5= | 50cm 0.10 0.08 0.09 0.09 0.08
_ Tcm 0.16 0.14 0.16 0.14 0.18
AEEREFR PREE 50cm 0.15 0.15 0.14 0.14 0.17
5= | 50cm 0.09 0.10 0.09 0.10 0.09
_ Tcm 0.14 0.15 0.12 0.15 0.13
=HET EHEER PREE 50cm 0.14 0.12 0.13 0.14 0.13
5= | 50cm 0.09 0.11 0.11 0.09 0.11
_ Tcm 0.13 0.10 0.13 0.12 0.14
AMREFR PREE 50cm 0.13 0.11 0.13 0.11 0.13
5= | 50cm 0.08 0.08 0.07 0.08 0.08
AHRET — Tcm 0.13 0.13 0.15 0.14 0.14
SHERERR 50cm 0.15 0.15 0.15 0.15 0.15
5= | 50cm 0.10 0.11 0.12 0.12 0.10
_ Tcm 0.15 0.14 0.15 0.15 0.15
ZIEIRE PREE 50cm 0.14 0.15 0.16 0.15 0.15
5= | 50cm 0.08 0.08 0.09 0.08 0.09
_ Tcm 0.10 0.11 0.09 0.11 0.10
KRB PITEE 50cm 0.10 0.11 0.10 0.12 0.12
ZAEH] 5= | 50cm 0.10 0.08 0.10 0.09 0.08
? — Tcm 0.16 0.15 0.16 0.16 0.15
RS 50cm 0.17 0.17 0.17 0.18 0.17
5= | 50cm 0.11 0.10 0.10 0.09 0.09
_ Tcm 0.15 0.16 0.12 0.14 0.17
LEEREFR PREE 50cm 0.17 0.17 0.13 0.12 0.11
5= | 50cm 0.09 0.10 0.11 0.11 0.11
_ Tcm 0.15 0.14 0.14 0.15 0.14
=2H EXHIEBE PREE 50cm 0.15 0.14 0.13 0.14 0.15
5= | 50cm 0.11 0.11 0.09 0.10 0.10
_ Tam 0.11 0.13 0.15 0.14 0.14
BANEET BAEEE PREE 50cm 0.13 0.15 0.13 0.16 0.14
5= | 50cm 0.09 0.09 0.10 0.10 0.11
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. S D W=
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X REFA ARERT | MRS — s TEmE T 18250 | 18270 | 15280
— Tcm 0.13 0.13 0.13 0.13 0.12
sxL8 | =auesE | PR [ Som 0.13 015 015 0.12 0.14
FBEE 50cm 0.07 0.07 0.08 0.08 0.08
: o FREE Tcm 0.05 0.07 0.07 0.07 0.08
FAE T HEHR BT 50cm 0.06 0.09 0.07 0.06 0.08
FBEE 50cm 0.07 0.08 0.08 0.07 0.07
— Tcm 0.10 0.11 0.12 0.11 0.11
a3 mEREm | TE S 011 0.12 011 011 0.70
FBEE 50cm 0.07 0.08 0.07 0.08 0.07
— Tcm 0.13 0.14 0.15 0.13 0.12
HF BT ZiLE 50cm 0.1 0.12 0.13 0.12 0.10
- FEE 50cm 0.09 0.09 0.08 0.08 0.07
FEATET FREE Tcm 0.10 0.13 0.10 0.12 0.16
HRBEFEB 50cm 0.12 0.12 0.11 0.12 0.15
FBEE 50cm 0.08 0.08 0.09 0.09 0.09
— Tcm 0.17 0.18 0.17 0.14 0.15
FaEET HEHREBM ZiLE 50cm 0.17 0.16 0.15 0.18 0.17
FEE 50cm 0.13 0.10 0.12 0.10 0.12
— Tcm 0.11 0.10 0.11 0.11 0.10
AT MEEEsmM ZiLE 50cm 0.10 0.10 0.11 0.12 0.09
FEE 50cm 0.08 0.08 0.08 0.07 0.08




